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a) Show that 
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For example if n=4, then 
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. No proof is required here.

 Please can you explain primitive irreducible polynomial, give examples.
Be sure explain this problem step by step.
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 is irreducible and 
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Then we have the fallowing elements of this extension field with 
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We know the 
[image: image22.wmf]4

1

xx

=+

 then we have :

[image: image23.wmf]22

33

xx

xx

xx

=

=

=



[image: image24.wmf]4

52

632

1

xx

xxx

xxx

=+

=+

=+



[image: image25.wmf]74333

84222

93

11

11

xxxxxxx

xxxxxxxx

xxx

=+=++=++

=++=+++=+

=+



[image: image26.wmf]104222

1132

124323232

11

11

xxxxxxx

xxxx

xxxxxxxxxx

=+=++=++

=++

=++=+++=+++



[image: image27.wmf]134323232

144333

154

11

11

11

xxxxxxxxxxx

xxxxxxxx

xxxxx

=+++=++++=++

=++=+++=+

=+=++=


Then: For example if n=4, then 
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 Is in binary form.

I hope this is very clear for you.

Let me know if you need more explication.

_1226008440.unknown

_1226008884.unknown

_1226009080.unknown

_1226086946.unknown

_1226087280.unknown

_1226087759.unknown

_1226087760.unknown

_1226087798.unknown

_1226087556.unknown

_1226087658.unknown

_1226087029.unknown

_1226087120.unknown

_1226086975.unknown

_1226086691.unknown

_1226086790.unknown

_1226086531.unknown

_1226086658.unknown

_1226009050.unknown

_1226008577.unknown

_1226008667.unknown

_1226008861.unknown

_1226008490.unknown

_1226007983.unknown

_1226008160.unknown

_1226008292.unknown

_1226008138.unknown

_1226007807.unknown

_1226007939.unknown

_1226007739.unknown

